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Algorithm 1 Euclid’s algorithm
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. procedure EucLID(a, b)
r o amod b
while r £ 0 do
a b
b r
r & amod b
end while
return b
end procedure

- The g.ed. of a and b

 We have the answer if r i3 )

= The ged 1s b
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A Look Into Tor Keys

/’“;/
4 : ,/’ . 4
/[
f ¢
« Toris afl anonymity network
! : i g A : ;
! - Tor useis RSA a lot in its relays j | { |
} X : { ; | i ; | :
{ «f Can weibreak all those RSA keys with GCD??? / ' / }'
; ‘ 1 \ \ p i il ’ = j
é. XV 5 k \ e /’ J ; f
1 E i { ! L . % ‘," / :,:"
\ i { \ 7 4 ‘4 j
k "\ L'-'\ A B & 4 i i :;[
\ Y : o |t v i
N xf f j{:
N < ] _ar.»'” ¥
\‘ TN g Sk _yq) 7



Thanks!




